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_ GENERAL AWARENESS|
The Government of India and REI are making
all the efforts to provide Banking facilities to
all the villageshabitations in the country. This
iz the part of their policy of—

1. FURA

4]

. Financial Inchision

i. Pradhan Mantri Adarsh Gram Yojana
5. Mone of these

=
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Which of the following ie NOT a Private Bank

in Inein®
" 1. Yes Bank £ HIOFC Bank
4, Aons Bank 4. Kntak Mahindra Bank

5. IDEI Bank

Which of the following isare NOT the fume- |

tions of a bank?
A Accepting deposits from the public
B. Grant of loans and advances

. Providing hinance to all thees who cannot eam
enough Lo survive

L. Only A 2 Omly B
&, Omly C 4 AABEDT
4, Cmly B & C

David Cameron who was in news recently iz |

the
1. Preaident of Australia

2. Prime Minister of United Kingdom
3. President. of Brazil

4. Prime Minister of Brazil

&, Mone of thase

Farmers in India are covered by some
echemes. Which of the following4

the same?

1. Bwasthya Bima Yojana
2. Varshs Bima Yojana

4. Mational Pension Sch
4., Food for work ache

&, None of thege

Which of the
sports coach?

1. Lalu F'l: Ik

%. Ramvilas Pagwan

3. Nitieh Eumar

4. Syeed Shahnawaj Hussain
&, Mone of these

&, Hashim Amls who was awarded the player of
the year in his category is a famous—

1. Tonnis pleyer 2. Badminton player

3. Hockey player 4., Chess player

5. Cricket player

susngzhou' was recently in news as ==
T (3-20 Summit took place there

2, Commonwealth Games were organized thers
8. ASEAN Summit took place there

4. Asian Games 2010 ware crganized thers

. None of thess

1%, Which of the following is & treaty associnted
with the use of Nuclear Power?

1. NFT 2. B5AFTA
3. GATT 4. Look East Palicy
. Mone of these

18. Nicole Farin who was erowned 'Miss Earth -
2010 is from which of the following countries?
L Brazil 2. India 3. Britain 4 Italy
§. France

14, Which of the following awarde’honours is
given to Mr. Pranab Mukherjee?
1. Parliamentarian of the year
2. Beet Union Minister
3. Finance Ministar of the vear for Asia
4. BAARC Parliamentarian of the vear
5. None of these

15. Which of the following names is associated with
a Health scheme launched by the Govt of India?
1. VAT 2. MAT 3. CAR 4, AAF]
4. ASHA

18. Gagan Narang who won 4 gold medals in Delhi
Commonwealth Games is basically 8 —
1, Weight lifter 2. Badminton player
4, Table Tennis player 4. Swimmer
& Air Rifle shoster

17. An individual going to Kumait will have to
make all hisher payments in which of the fol-
lowing currencies?
1. Pula 2. Ruhbla 3. Curo 4, Lar




L.

18

21

L

28.

28,

. Which of the following trophi

VOIS IArgest DOUrse WAS INGUgUrates In
Mumbai recemtly. The bourse will deal in
which of the following commodities?

1. Textilea 2. Gold &, Silver 4, THamond

5. None of these

HINDALCO is & company operating in the area
of v

1. Car & Autombile - 8. Tenctiles

2. Cement manufacturing 4. Software development

E. Aluminiom & Copper rlling

Who has written the book "The White Tiger™?
1. Baul Bellow 2_Amitavy Ghosh

3. Balman Eushdie 4. V.8, Naipaul

5. Aravind Adiga

Which of the following is a form of irrigation
used in India?

1. Dip 2. Bonting

4. Amalgs 4. Extension Service

5. Mone of these

Who amongst the following is one of the win-
ner of the Nobel Prize 2010 in Physies?

1. Andre Geim 2. Alex Bammond

d. Kobert O Edwards 4, Akira Suzuki

6. Mone of these

Mr.- Howard Jacobsonm who is Booker prize
winner for 2010 writes in ___

1. Bpanish 2. German

4. Russian 4, French

5. Englizh

« Who amongst the following has never been the

Prime Minister of India?

1. Smi. Indira Goandhi 2. Lal Bahadur Shastri
3. Morarji Desai 4, Bomnath Chatterjee
5. Rapiv Gandhi

. Who amongst the following is a famous man

Booker Prize winner author of India origin?

1. Chetan Bhagat £, Arundhati Roy
3. Namitn Gokhale 4. Upamanyu Chatterjes
b, Mone of these

Which of the following echemes is launched
make cities free from slums?

L. Indira Aawns Yojana

Z. Bharat Mivman

3. Rajiv Gandhi Awas Yojana

4. Pradhan Mantri -‘wdm'aha Gram Wiy g

5. Mone of these

associated with the game of Foot
L. Challengs Cup y
3. Carling Cup

5. Merdeka Cup
Shri 8 M Erishna
ment with Dy, G
came to India in Ot

1. 185]1-52
&, 1967

5. 1040
Which one of the following taxesicess is levied
by States in [ndm"'

LI S 1 moa

4. 184748

1.

a9.

5. All of these

Who among the following has been declared as
Busingssman of the decade?

1. Mukesh Ambani 2, Anil Ambani

3. Ratan Tata 4, Axim Promji

&, Adityn Birda

Tejaswini Sawunt is the first Indian woman to
be crowned world champion in __

1. Bhooting 2. Wreatling
3. Boxing 4, Athletics
b, Mone of thessa
. NAV is pormally used in reupn{:t of scheme
floated by ___
1. Banks 2, Mutual funds
3. Inaurance Compani erchant banker
i, Mome of these
. The regulator o ompanies in
Tmadia is
1. RBI Moance Minister
ARC is in
1. 2. Mew Delhi

4. Dhaka
rernational Court of Justics is

2. Hague

4, Bwitzerland

of the following states has achieved the
ghest literncy rate?

1 Haryana 2. West Bengal
3. Kerala 4. Maharashtra
B. Tamil Nadu '
Money Lanndering refers to ___

1. Conversion of assats into cash

2, Converswm of Money which is illagally obtained
3, Conversion of cash into gold

4. Conversion of gold into cash

&, Money power
Who won the Commonwenlth Writer's Prize on
April 12, 20107
1. Bhobha D 2. Tara Joshi
3. Arvind Virmani 4. Rana Dasgupta
5. Ehushwant Singh
» Brahmos is alan _____
1. Fighter plame 2. Pettan tank
3. Bubmarine 4. Bupersonic mizssile
5. Helicopter

| ENGLISH LANGUAGE |

Directions (41-50): Read the follawing possage care-
fully and enswer the guestions given below it Certmin
wards are privked in bold fo help vou locate them while
argiwertng some of the guestinis.

Omee upon & time in a village, there lived six blind

men. In spite of their blindness, they had managed to
aducate themselves. Seeling to vxpand their knowledge,
they decided to visit a zoo and tey out their skills in recig-
nising animals by their touch, The first animal they came
ACToEs, 83 s0dn a8 they entered the zoo, was an elephant.

Ag the first man approached the elephant, the ele-

phant waved its trunk, and the man felt semething brush
. past him, Managing to hald on to it, he felt it, and found



shanting "Mover away! This 16 a snaker!” Meanwhile, the
| "second man had moved closer, and walked right near its

4%, What was the first thing the hlind men CAMe
across as they entered the zoo? |

| lags. As the man touched the thick, evlindrical

- shaped
| lege, he called out "Do not worry, These are just four treea mmm
! here. There 15 certainly no sneker!” The third man was
NUR, C
w.krishnaveni632

31 Associates Bank
The fourth man cautionsly walked up behind the ele- 'DEL PAPER

| curious hearing the other two, and moved forward. As he
walked towards the elephant, he falt his hand toach one
of the tuske. Feeling the smoath, sharp ivery tusk, the
man cried out “Be carefil! There is a eharp spear hore”,

1. A large mud wall 2. The zoo keeper
3, The treas 4. The elephant
5. A enske

ell : ! 4. Why isit that each of the six blind men had dif-
ferent impressions of the elephant?
A Each of therm touchad only o portion’of the ele

phant, and falt itz ewinging tail. "It's just & rope! There is
nothing to be afraid oft” he asid. “This iz nothing but a
huge fan!” The sixth man did not want to be left out, As
he walked towarda the elephant, he bumped into its mas-
give body, and he exclaimed, "Hey! Thia is just a buge muad
walll There i no animal at all'” Al aix of them were con-
vineed that they were right, and began arguing amongst
themaelves.

Wondaring what the commetion was all about, the zoo
keepar arvived at the scene, and was surprised to see s
blind men swrrounding an elephat, each of them shouting
at the top of their voice! "Quiet” he shouted gut, and when
they had calmed down, he asked. "Why are all af you
shouting and arguing in this manner? "They replied, "Sir,
ag-your can see, we are all blind. We came here to expand
our knowledge. We sensed an animal here, and tried to
ged an idea of its appearance by feeling it However, we
are not able to arrive al & eonsensus over iks pppearance,
and hence are arguing, Can you plesse help us and tell us
whichk of us is right'?

The zoo kesper laughed before answering, "My dear
men, each of vou has touched just one portion of the ani-
mal. The animal you see is neither a snake, nor any of the
other things vou have mentioned. The animal in front of
vou is no elephat!” As the six men bowed their head,
sshamed of the scene they had created, the zoa keeper
smid, "My dear men, this is a huge animal, and lockily, it
is teme. [t etood by clamly as each of you touched it, You
ara extremely hacky that it stayed calen even during
argument, for if it had got angry, it would have trampl
all of you to death!” He continued further, "It i
enough to gather knowledge, but it iz alwo imports

ohservations together, you might have had g
animal as & whole! Also, when yon cannod gbe
truth, it is better to go to someone whe—tdaga e

Buch half-knowledge is not only neglesy
ous. I you had come directly to
“vou identify all the animals wj
ger!” The aix men apologing
assumui him that they had leats

O Mow
o, they wounld seak true ke ied peaple
and would also try to wog f B0 that they

coald learn more.

42, Why did the plind men visit the zoo?
- L They wanteédto touch an elephant
' & They had heard a lot about animals
8. They wanted to visit the animals in the 200

4, They wished to mnngmse animals by their touch
and feal

phant .

B, Ench of the six blind men approached different
animals

2. The blind men were touching the surroundings
inatead of the elephant

D, They had never tpyched an elephant bafore

1. Caly A 2. Only A and C

Fgly B and T

pring and shouting

ee did the goo keeper give to the six
men?
at the elephant was tame and ohedient
nt they were very lucky to have had the oppor
tumity to visit the zoo
3, That it was important to shave knowledge and
work together as a Leam
4. That they were not quelified to be knowledgeabla
individuals
5. That the elephant is mad up of different parts
| 47. Which statement best describes the zoo keep-
i er's behaviour towards the six blind men?
1. The zoo keeper insulted the six men
2. The zoo keeper presented himself to be as igno-
rant g5 they were
3. The zoo keeper helped them and assisted them
further
4. The zoo keeper was indifferent towsrds the six
blind men
G. The zoo kesper ]Jthh]tedthe six blind men from
entering the zon
Directions (48-50); Chooze the word which is most
nearty the same in meaning ox the ward printed in bold ga

used in the possnge,

48, Convined
1. Certain 2. Doubtfial
3. Presaured 4. Committed
&. Dating

4%, Pool
1. Expand 2. Gather
3. Devote 4. Apply
5. Combine

50, Consensus
1. Harmomy 2. Aprecment
3. Information 4. Order
. Inference

Directions (51-535): In eneh of the fellowing sentences,
an idiometic expression or o proverh is kighlighted.
Select the alternative which best desoribes its wse in fhe

EERiELne



5L Im all likelihood the missing boy has run away Lo
the forest .
1. with good intentions 2. there's no chanoe
3. witheut doubt 4. In mast probability
5. None of these '

53, The parents were completely in the dark concern-
ing their daughter's plans.

ipnorant about '

asharmed af

pretending to be unaware

_unhappy about

. Wiome of these

§3. [ am in toweh with the police, and they will ke here
in ten minates.
1. in eommunication with 2, in clese proximity with
4 in good terms with 4, familiar with
5, None of these

54. 1 atombled upon spme interesting old letters in my
Grandfather's deslk.
1. deliberately went through
2. surveyed
3. tripped over
4, discovered by chanes

5. None of these
BB, The secretary made an antry of the arrangement.

1, initiated discussion 2. made a record
5. abought notice 4, shawed approval :
&, None of these ]
Directions (56-60): Read ecch sentence fo find oul i

wrheiker there iz any grommatical error dn i The error,

any, will be in one pert of the senfence, The number of thet |

part is the answer, If there is no error, the answer is (5) Le.

‘Wo Error’. (lgnare the ervors of punciuation, if anyl

58, In times of crisis, {1V the Bhagavad Gita gives lght
(Zvand guide to the mind tortured by doubt (3Vand
tarn by conflict of duties. (4VNo Error (5)

57, It was not easy for lnte Reja Ram Mohan Roey (1010
root out the custom of gati (2¥ because a majority of |
Ay the edocated class does not sopport hie. () No
Error (5,

58 Deplete of the Ozone layer (1N and the greenhou
effaet (21 are two long-term effecta (3) of air polls
tion. (4% Mo Ervor (5

58, Moat of the prople which (13 have been vieims T8
of extrema vielenes (3 ave’tos frightened to fepo
to the police. (4VNe Error (5).

B b

(21 by curing dizseases (3
health.[4WNo erver (5
Directions (61-68); Each sentengspe
cach blank indicetes that some

62, My colleagw ik

rd to the resolution of the

L. pehaviour 2. fees

5. Epprmral
64, The government claims that in the

3, advice 4 impaect

i1 UM‘;I— P

4. installments 4. decrease

5. competition
85. Sarah was walking along the slreet sh

tripped over

l.when 2.85 3. whle 4, then

5. however

Directions (G670} In each guestion beloe, Jfoer

words prirted in bold fype are given, Theee are numbered
(1), (21, (30 and (4], One of these words priefed i bald may
either be wrangly spelt or inappropriate if the context of
Hu-_' sontence, Find oul the word that sentence. Find out the
wword thet i3 inoppropariote or word that (2 your anger,
If all the words printed in bold are correctly spelt and
approprigte in the copext n,l" he senteree then mark (5] L.
Al Correc!’ a2 your oRsw
66, All the competito

arrect (5L

wya @ Very pompowus (ZV
heportals (4 of learning. All

hep of senterices A, B, C, I, E qnd F in the prop-
N ,farm a meaningfil paragraph; then arswer

s Eurprise, a little honeybee came hatore his
qrone and said, "OF all the gifts you could give me,
¢ ome will do. I'd like the power to inflict great pain
cnever | choose to”

R, I hereby give you & sharp sting, But, I am sure you
will use thiz weapon carefully only in times of B.ngar
and strife.
C. “What an awful wish!” said great Feus, "But T will
| grant It".
. And tothis day, the little heneyber dies after it stings.
E. One dny, Zeus, the King of Mount Olympus, was giv-
ing out gifts to beasts, birds and insecta.
F. “You will get ta use it only once, for veing it will cost
you your life.”
71. Which of the ﬁnllnmug should be the FOURTH
sentence after the rearrangement?
LD 2 F 3B 4 E
5C
72. Which of the following should be the SECOND
sentence after the rearrangement?
LA 20 aF 1 B
6 E
7%, Which of the following should be the FIRST
sentence after the rearrangement?

| LE 2.B 5.0 4.0
3 F
74. Which of the following should be the SIXTH
(LAST) sentence after the rearrangement?
G F

75. Which of the following should be the FIFTH
sentence after the rearrangement?
LE 2D 3B i. C
i i F

i
1
| 1A 2. D 3. F L E
|



GFE HORRE, BI0R 0 WRICA M8 D6ER REMDETed. 1058 im-

bers are printed below the possage and ogoinst eack, fTve
words ore suggested, one of which fits fhe Hlark oppropri-
delv. Find out the appropriste wond i eceh cose.

Day dresming is often owverlooked as a proper dream
and .. 7H.. instend as wandering thoughts. However, the
meanings b you hightly dream symbols are also ..77... to
your day drames. The corbent in you day dreams are help-
ful in understanding your trué feelings and will help you

n .78 vour geals. Day dreaming is the spontaneous |

imagining or recalling of varivus images or experiences in
the past ar the future. When you daydram, you are access-
ing your right brain, which is the creative and feminine
side of vour perscnality. Werrying about something ere-
ates visual images in your brain of the worst outcome that
vou gre imagining and is.a form of daydreaming. By
repeating these me'gam'wa images 1n yaur mind, you are
mare likelv o make them happen. So the next, time you
start worrving, by te think of a posititve ouwteome.
Positive daydrearing is very healthy and acts as o tem-
POFELY oo T from the demands of reality. It iz alse & good
WA 10 Bl bunilt up frusteatione without physically act-
ing them out.

78. 1. composed 2. determindd
3. thought 4. falt
&. regarded

77. 1. duplicated 2. present
3. established 4. applicabla
5. depictive

78. 1 thinking 2 holding 3. achieving 4. realise
5. capturing

T8 1. solitude 2 healing 3. gateway 4. passage
3. esCRpE

0. 1 adjust 2 confirm 8. capture 4. release
. demonistrate

puestions mark(?) in the following questions?
81, 6380 -1212-2R28a?
1. 2349 2, 2493 5. 2934
5. None of these
gz, 1, “‘x% -?

4

43 95
i)
L % 2,
3. None of these
B3, 52612+ 188 =507
1. 130 2, 160 a1
& None of these
B4, 62% - 32% 4 (72 = 3144
L 17 2 16 4. 51
& None of these
BB, %ﬁ&h 33a?

a5, E3_

de

Y

4. 51
BO. % g
4 53
87,
1
4, =

88, (8536 -,3300 s}xi}..‘!-"
1. 26586.T £ 245R.7 3. ED4E.T 4, IRL5.T
5. None of theas

e 501 A

rw aw B e

5. Mone of thase
B ESEL e -T1s 7 .

L 10021 2 13001 4. 1021 4. 10201

5. None of these

Directions (91-50): What showld come tm pln:r of the

question mark (¥} in the following number seres?
81, 4 10 4884 154 7

1223 2 I35 3. 2 4 I35

§. None of these

g2, 111 23l 13

4. 107
4. 425

4. 150

e :-J
e ul!'tlm ﬂm and the second nombers is 77.5

i the mreme of the fourth and fifth num-
' herg'is 46. What is the third number?
L ALG 2 43

3. 42 4, Cannot be determined
5. Mone of these

7. Mr. Nair's monthly salary is ¥ 22,504, He took &
loan of T 30,0 on simple interest for 3 years at
the rate of 5 poe.poa. The amount that he will be
paying as simple interest in 3 years is what

percent of his monthly salary?
L * Z 18
3. 20 4, 23

5. Mone of theae )

8. If the numerator of a certain fractions
increased by 100% and the demominator is
increased h;r 200% the new fraction thus
formed is 4 , What is the orlginal fraction?

I

1. 2 2. 3 2 4

7 ) ’ & . 7
5. None of thess )

89, In how many different ways can the letters of

the word 'SIMPLE' be arranged?
1. 520 2. 120 4. 5044 4, 270
3. Nome of these

1. 52% students from a eollege participated in a sur @
vey. What is the respective rutio between the num-
ber of students who did not participate in the sur-
vey to the number of students who participated?
L1113 2012 :13 8312 : 1%

4, Cannot be determined 5, None of these
Directions (101-108): Study the following table care |
fully and ensiwer the queation thet follpw: ;



ﬂe'l.ds from zix dﬁmntmllagm M- Uu!ales, F-Females |

Specialisation

Name| Econo{ Mark-| HRM |Soci- |(Psve- | Polit-
of co- | mics | eting ology | hology | cal

[llege - Science
| M[F | M[F|M[F|M[FM|[F| M |[F|
K |53|45 |34 |47 [13 [-28| 25|45 21 | 34| 24 | 68
L [62|65 | 341415 | 58| 18 |56| 56 [ 65| 58 | BE
M [18[23|&7|25 (26 | &56] 26 |35] 64 | 85| 65 | 48
N |53(24 | 23019 [45 | 54 24 34| 54 |VE| 5T | BE
0 [28]10 | 45|25 [14 | 47) 48 [54] 21 |36 46 | 56
P (65|44 [ 34|30 (27 | 20] a0 (v o (as| Tol 86

101, What is the average number of females special-
© ising in HEM from all the colleges togetehr?
1. 30 2. 45 4. G 4, 55
5. Mone of these

102, The total nomber of males in college L are -
approximatlely what pereent of total females |

from the same college?
1. 1@ 2. 30 4. 6l 4, 11
6. T

103, What is the respective ratio between the total
number of students specializing in Eeonomics
from college F and the total number of students
epegializing in Psychology from the same college?
126 ; 31 2.25 - 34 4.48 . 39 4.2 : 39
5. Mone of thess

1. The total number of females specializing in
Political Sciempe from colleges K, N and P
together arve approximately what percent of
the males specialising in the same fleld from

the snme colleges?
1. 210 2. 50 4. 190 4, 150
A 110

108, How many students are there in college M
from all the specialisations together?
1. 574 2. 5678 3,572 4. 6B
5. MNone of these
106, Hwo much will be the compound interest to be
prid on a principal amount of ¥ 55,000 after 2
vears at the rate of 4 pe.pa?
1.7 43048 2, T 44328 2 7453428 4.0 42348
5, Mone of these
107. The area of a rectangle is twice the
iriangle. The perimeter of the rectan

1. Yesterday Shweta completed.d

1. 16 minutes
d. 46 m:nu:ee
5. & minutes

5. None of these

10, What is the value of (x} in th efollowing equa-
tiom?

| :
|
|
1
|
1
|
|
|
|

“aE T (o
L. 18 2. 12 318 4. 14
5. Mone of thesea ’

Directions (111-115): What approsimate volue
shionld come inplace of the question mark (7) in the foliow-
ing queestinns? (Mobe: You are not expected to caléulate the
exact vilue)

i %1231=7
1.11 2, 30 3. 50 4. 70
G, L0k

12 507.853 + 253,013 « 198,751 =7
1160 2. 860 3. 560 d_ 460
5. D60

nE T8 +21=1.7=7
1. 5BE 2 650 3. BEG 4, 525
& ol5

4. 0356 =7
4. 95

4. 53

mefy the following pe chorks
LG !Ptu:fc-!.[-uw:

Fercentage of female students from different states
attending a national seminar Total studenta: 3500

116, What iz the respective ratio between the num-
ber of female students from Karnataka to the
number of female students from Kerala?
1.2:7 225 . B2:3 4.3:7
5. None of these

7.  What is the total number of male students from
Maharashtra and Madhya Pradesh together?
1. 2175 2. 8786 9. 2527 4, 2275
3. None of these

118. What is the rezpective ratio between the num-
ber of male students from Assam and the nmm-

“ ber of male students from Madhya Pradesh?

1. 197; 134 2. 197:135 3. 197:133 4, 100133
5, None of these

118. What is the respective ratio between the num-
her of female students from Karnataka and the
number of male students from the same state?
1. 35:69 2 32 69 3. 38; 69 4, 85: 67
. None of thess

14, The number of female students from Assam are
approximately what percent of the male stu-
denis -l':-nm the same state?

1 owa ] LT FR-T-}



121, mawrtamlungm&‘tnhepulﬂe is coded as

'fa so la', 'she is polite' is coded as 'so me pa’
and 'te have manners' is coded a5 'na la ma'.
Which of the following is the sode for "be' in

that lamguage?
L s 2. fe - 3 la 4. me
5. mm -

122, "Lead’ is related to.. ‘Pencil in the same way as
'Ink' is related to

L. Battle 2. Pen
3. Btamp 4. Pat.
8. Colour

123 How many meaningfol English words can bhe
formed with the letters ONFT using each letter
only onee in each word?

1. Mone 2. Ome
4. Two 4, Thres
%. More than three
124, If the, digits in the number 25673948 are
arranged in ascending order from left to right,
what will be the sum of the digits which are
= fourth from the right and third from the left in
" the new arrangement?

L 10 2.9 a4 4.6

5 B

125 In o cortain code GIVEN is written as MDVJH.
How is SHARK written in that code? |
L JEAIT 2. JQAIT 3. Tiagy 4 JQBTI
5. JQIAT

126, If each of the vowels in the word HONESTLY is
changed to the next letter in the English alpha-
betical series and each consonant is changed
to the previous letter in the English alphaheti-
cal seriea, and then the alphabets so formed
are arranged in alphabetical order from left
right, which of the following will be fifth
the left of the new arrangement thus
1.5 2R 3 M 4. F
5F

127. If it is possible to make only one g
word with the first, second, fifth 2

lowing would be the second lets
from the right end? If no 3
made, give 'X' a8 your answ
one such word can he
answer as 'z'.
i X 2p
6.

i 12& Four of the folloy

4, Two 4. Three

. B, More than l;]rree
130, In a certain language "GUST is coded as ‘@752

and 'SNIF is coded as "957T# and ‘GAPE is
coded as 'f$35, How Will ‘SING' be coded in the .

L Bl BT

Directions (131-135) : (Tn each of the guestions belga
are given three simtemends followed by-twe conclusions
numbered T end IT. You hove to take the given sra.remma-ts

"t B true even if they seem !ﬂbeﬂiuunnnm,r‘rmmh

mondy known faocts ard then decide whick of the given con-

clusions lagically follows' from the statements disregard-

ing commendty known focts. )

Give answer (1} if only conclusion [ follows.

Give anawer (2} if only conclusion [T follows.

Give answer (3) if either conelusion [ or conclusion 11 |
filbows.

Give answer (4) if neither conchusian 1 nor conclusion 11

Fo desk is a drawer.
133, Btatements:
Al colleges are buildings.
All buildinge are cancrets,
Some concrete ave strong.
Conclusions:
L. Some collegos are atrong.
1L Atleast some strong are conerabs,
]M. Statements:
Some trees are tall,
All tall are healthy,
Al healthy are nat tall,
Conclusions:
I Some healthy are tall,
IT. Seme trees are ot tall,
135 Statements:
All bovks are interasting.
All magazines are books. |
Some int:amstiug that sre not books are journals
usioms:
L. All books are journals
IL Al magezines are interesting,
Directions (136-140) : Read the follmeing informa-
tion carefielly and answer the questions which Jodlow:
If*A o T means ‘A is the wife of 7'
1A = & meens °A is the hushand of 7'
If'A + 2" means A is the sister of .
IF*A - % means "A is the brother of 2
If ‘A > 2’ means ‘A is the san of T,
If'A = & means ‘4 iz the daughtar of Z,
136, Which of the following relations will not be

true if the expression 'A<P =T + F = L x M’ is
definitely true?

L. Ais the daughter of T
A T ie tha eam oF A



5. M ia the grandmother of A
137. Which of the following means N is the daugh-
ter-in-law of A7
1LM+N*P=A
2NeM=F+A
3 M-N=x=P<a
4 AcP+HN=xM
BA«HN«PxM
138, How is P related to F if '@ =P < B + F1?
1. Daughter
2. Miece
4, Danghtar-in-law
4, Gramd daughter
5. Aunt
138, Which of the following means P is the father of
R?
1LRE=8=Fw%d
2.J+R-8<P
S R=5«FP-J
4.8+JdxR<P
5. None of these
' 140, How is M related to Bif A+ B> Z x5 + M7
1. Aunt 2. Grandlather
3. Uncle 4. Cousin
&. Cannot be determined
Directions (141-145) : The following questions aré
hnsed on the five three digit numbers given below:
H12 580 T43 468 297

141. Af two is added to the first digit of each of the
numbeers, how many numbers thus farmed will
e completely divisible by three?
1. None 2, One 3. Two 4. Thres
. Four

142, ¥ the position of the second and the third digits
of each of the numbers are interchanged, in how

many numbers thus formed will the last diglt be

a perfect square? (1" is also o perfect square)
1. One 2. Two 3. Three 4. Four
5. Five

143, What will be the resultamt if the third
the second lowest number is divided
second digit of the highest number?
1. 4 2.1 36
b. 2

Lidd If all the digits in each of the
arranged in descending ordgr v
ber, which of the followin;
est number in the new
bers?

5. 247

145, If all the numbers ave arranged in ascendin
arder from left to right. which of the followin
will be the sum of all the three digits of
number which is second from the right of the|

new arrangement thus formed?
1. 14 28 3. 18~ 4 16
G. 12

Directions (146-150): Study the following informa-
tion earefully and answer the given questions.

Bix friemds L, M, N. O, P and § work in three differ-
ent citiez namely Chennai. Pune and Nashik (not more
than two work in & single City), Each of them hes a dif-

ferent profession, viz., banker, software engineer, lawyer,

the same order.

O works in Che
banker by profession®s
ig a software enginear by . N works in Nashik
and is not a lavpre F ia a doctor and does
nat work in Chisgnai. The rothiar person who warks in

g with anly @, who

people work in Nashik?
2. Mand P

A 4. Nand O

annot be determined

; h of the: following eombinations of person,

Place and profession is correct?

1. § - Naghik - psychologist

2. P - Pune - doctor

3. L - Mashik - lecturer

4. N - Chennai - software engineer

. 0 - Chennai « lowyer

| 148, Which of the following is the sceupation of N7

1, Boftware engineer 2. Psychologist
3. Lecturer 4. Lawyer
5. Mone of these

: lm.Whumumgthefnlluwihgﬁmisalaw}lerhy

profession among the group of friends?
1.0 2L AN 4.6
b. Nane of these

geach of the questions given below whick one of the five answer figures on the right
figures on the left, if the sequence were condinued?

Answer Fipures
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157.
158,
168,
180 evrmsscuralarocs TA o) Zok|ORTOA|lDRETZ nr*oﬂutrw
1 ) EE 5
| Linput 2. output 4. data 4, eirenitry
. ! B. None of these

2. Mouse, Eeyvboard, Printer
4. Mouse, Kevhonrd, Plotter
4. Mouse, Keyboard, Sepfing
5, Mome of these
162 A menn contains a lj
1. commands

i Noswe of these

165. Computer ..... is whatever is typed, submitted,

or trﬂﬂmjﬁﬂd: bo & commaiter avokam

186, Which process checks to ensure the compo-
nents of the computer are operating and son.

nected properly?
1. Booting 2. Processing
3. Baving 4. Editing
5. None of thiese
187. Unsolicited commereial email is commonly
known ag
1, spam 2. junk
3. hoazes 4, hypartaxt

5. None of these

| 168, .ciio.n. is processed by the computer into infor-
mation.
1. numbers 2. processor 3. input 4. data
I 5. None of these
| 189, A web site address is a unique name that iden-
| Aifies a specific ..., on the web,
! L. web browsar 2, web site
! 3. FDA 4. link
§. None of thesa

170. A device that connects to a network without |
the use of cables is said to be f

L. distributed
4. open souree

2 periralized i
4. wirelass |




throngh the document you've created, then
L. correcting your errors 2, printing it -
3. saving it 4. deleting it
6. Mone of these
172, The Internet allows you to
1. gend electronic mail
2, view web pages _
%. connect to servers all arcund the world
4, All of these
5. Mome of these
173, Most mail programs automatically complete
the following two parts in an e-mail
1. Frorn : and Body:
2. From : and Date;
3, From : and To:
4. From : and Subact:
. None of these
174. Where iz the disk put in a computer?
1. in the modem 2, in the hard drive
8. inte the CPLT 4. in the disk drve
6. None of these
176, The name a user assigns to a document is
called ain)

1. Filename 2. program
5. record 4, data
b, Nome of thesa

176, An e-mail address typically consists of & user
1D followed by the ... sign and the name of the
e-mail server that manages the user's electron-
ie post office box.

L& 2.4
3 & 4, 4
5. None of these

177. A personal computer is designed to meet the

computing needs of aln)

1. individual 2. department
3. company 4, city
5. None of these

178 Ctrl, shift and alt are called ... keys,
1. adjustment 2. funetion
3. modifier 4, slphanumeric
G. None of these

179, File ..... shrinks the size of a file so it
less storage space.
1. sanming 2. synthegiz
3. defragmenting 4. compge
4. Mong of theas

1580, In addition to the basic
and notebook compute

1 '.“dlh.'l'lg a2 e i T -Ii[i.':kﬂlj
B. None of these

181. Safe Deposit

1. Solling te-]eph X
2. Bending SMS messnages
. Chatting on the phone

A Wawlentine Hlasnsamb mbhnma oafio

o —— T A M S B

1. Cashless operations

2. Only for HNI=

A&, Only for men

4, Only for employed persons

5, Transactions through cheque book
184. EMI can be a marketing tool if

1. EMI is increasing

2, 1k is wery high

3. it is very low

4, EMI has no impact on marketing

5. EMI iz a flat rate
1B5 The USP of a Current Account is

1. High Prafitability 2. Liguldity

i 4. Costly transsctions

2. Inceeazing loans

. Increasing clhients
4. Earning maore prafits

5. Taking aver Insarance companies
1848, Debit Card can be isswed to
L. Only Income Tax assessees
2. Omly Professionals
3. Only women
4. All farmers
5. All Bavings Account holders
1% Mutual Funds investments can he effectively
canvassed among
1. Only salaried persons
2. Btudents availing Edueation loans
A. HNT eustomers
4. Bunrise industries
B. Poar farmers
181. Product Design iz a function of
1. Front affice stafl
2. Back affice staff
3. Management
4. Marketing and Research team
8. Loan section
192, The target group for Personal Loans is
L. Al Privat Limited Companies
£, All Businessmen
4. All Salaried persons
4, Minor children
& Newborn infants
158, Advertisement is a type of
" 1. Threct marketing
g Ind:ira-ctme.rl-teti:ug

2, Bervice marketing
4, Internet banking



184, The sales process begins with
L. Customer identification”
2. Lead generation
3, Bales presentation
4, Baleg closure
5. Bales mest
185, Financial Planning is required when
1. Umee has no incorme
2. Croir 15 flushed with funds
3. Ome has no exXpenses to ineur
4, Cmee is illiterate
i 5. Incarse level is insufficient Lo meel the expenses
¢ 186, "Value added services’ implies
1. Additional knowledge of marketing stafi
2. Bervice beyond normal howrs
3. Bervice with extra facilities

|
4. Marketing agencias
H §. Overtime work
|18 Optimum results in marketing is possible
f through '
i 1. Increazad production
i 2. More number of products
I

3. Muore sales peraons

4. Motsented staff

6. More ATMa
188, Mutual Pund business from existing customers

can be canvassed by

1. Cocrcion 2. Cross-selling

3. Internal marketing 4. Outdoor marketing

. Road-shows
183, Marketing in banks has been necessitated

1. Globalisation

2, Excess staff

5. Mationalisation of bank

4, Complacency among the stafl
| 5. Poor customer service
I 200, Market Research is necessg
| L. making proper marketing dugisi
£, Choasing the right prodpces
3. Selecting the right syth
4, All of these
f. None of these

o,
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15
+i.2
49.2
651
a11
a97.8

131
120.2
1452
1614
1771
183.1

2h
164
G
&02
G4
B4
Ba1
114.4
130.1
1461
621
178.2
194.2

53
19.5
35.1
514
615
&5
435

115.2
1311
147.2
1654
175.4
1955

42
0.5
362
521
684
B45

100.2
116.2
1324
1485
164.1
180.2
196.3

6.2
211
373
G |
69,3
H6.2

1013
nv4
1532
1452
1651
1811
14

64
x

R

Bt

70.1

B4
2.5
1153
1341
501
166.1
1524
198.2

ANSWERS

78
8
49,4
a6.2
713
a7

15,5
11451
1352
151.5
167.1
1511
1591

B.5
24.4
40.4
G6.3
121
BE

104.5
1205
1364
1523
168 4
1643
20d0.1

D4
252
411
54
T4.1
B4.1

105.3
LAl
1371
152

169.2 "

155

10.2
6.8
424
581
T4.2
404
106.1
1222
L6.2
1541
170.4
186.3

1.4
271
434
a8l
0.8
g1L.a
107.4
123.2
1503
165.1
1711
1674

11
203
44.1
&2
Th.5
|
1045
1241
1405
156.2
1724
148.4

=21
45.2
B1.5
T4
3.4
LL2R
| ko
1412
1574
175.2
150.5

14.3
0.2
46,3
62.2
e
a4 2
110.4
126.5
142.8
1564
174.4
180.1

15.5
aLa
473
613
Th5
5.1
111.1
1274

165 |
321
451
64.5
A04
96.3
1125
1281

1435 1442
1595 1608
1761 1761
1914 1923
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